/b{aw*rx(:;L 1 L.)iSt. ZO/IC/ZGJA — L‘iﬁw(j @(aL£ 3___

3.2, Sy] L= g‘g g/f :{ — Z‘ T} one,u:\\i}
&L %S =V1{- gﬂi ﬂu-p- ne IN VI;/(.

&“‘*&‘ Zeigx,u Q,L%tu(&'w :

S(vw\ Appene, Bn rncxrwusc \/MSLL.uch ol el

/,#/26': &,...,n} —> g_qhm‘ a«j l,ugu-wj - wf
/L\f'l: za,,,...’ q,,:i = gjlﬂj J‘ogj‘l o{muu rl/‘t SLLM’:(:
&)b\% OLA(&L JiAcLM.L é‘;O\A HO.C,L K

gu I:-——ZHG’/{\?" %26’“ g/(i...,nj—bg } é Léwj‘ V1.
QL‘ (;Lﬂe p&o?wc,.st Ve {"-L]ecw (14(-.-’ awj .
Q tL«tL.LL deMJ‘ c I

§ e 43 >§a,,1 bt | -
e N A faxj' A= a,
> H = A Al = fe T
Ydalbass it - fsne —> wd e
St Uoymd = Soqaer § Ldeuwj UAk

waJ: Ak ;= gs‘, g/{...fmnf} - Eah.../ uu,,j L)UQL“IU' g(m,{),akg

vl

> %z ?%AL\

NU :




for d'eoLUc l e Z/f, . m/(} ot

(€: Ak — gG"‘— %,{n} —> (S_q,(,...,a“ui\{qgg L'\\j‘eua;v}
S glf,{,..,,n}

L)EXQLL—N ol (lukeks mLL;(le

@((6’))(;) = {gm Cblece 34

A ! g;u-‘ L= w+/f .

%At - & zfﬁ“- f/(c-“'”g - %aw-v, “wjz\ zﬁkj LSQLL;V’ g
#=n

= wl
T
c

= _F EQ" E/{{.»«}’f—f/{\z—) ga&r"u ““*‘:g %LLI;N}
we d

= Zm( =(m4)'”-{ :@“4)[ = wd € T

k=4

/UML chu.. mLLLicusPn}?—{(\ sk T - gueID ]m?//f&
wd o5 (Yt die Belopbuy



<
33 Flif > 7) / (L‘,L) € IR :
Q(‘;) ~ (Q,L) é-———> >(2"4 ),2'—;_- az ¢ L;l_

gw&l\; ,
. Reflocvilib: oG p)e RT U

3uL.: 0o il Cue /’(({w“"["“bm(-alj"“ QMJ\ K‘

)<2'+/a= &z’r/z = 6«7) 02 ("J) .
- Sk Sl ) R wib o) n (o),
Se a"u"
x’lpf’: qubz =5 il ;«2«7‘
=) C“t“’) o (X\/B‘
. "I/fc“u&:é\v‘ug.ﬁ;-'k'- gf"”’l [K_)), @:’L’), (¢, o{) < @2- Wu"é
Gy (o) wl @hole d) | o gls
T L 3
—> XL+7l :. .z al? s (7([7) ~ (ch&) |
A[so ES'(; ST S /A;Tuidal.(lutre[vl‘:f?ﬂ Qqu Réq

z -

E‘J C)(./)C R e b= Xl“fz' ¢ R,_ Aas Rodivi dus
Itises wan (O,O)OLM“(‘ (X\/)‘

(ﬁ.r (x.p) - (o 0) ist C\;Qs L ?ML‘{: )



Dauu ;54'
é
] = feb)e R | (al) w(xy) §
= E(OML’)Q RZ q2+l‘a = xz\i?"

= E(Q{L)CQ& *‘J’;L?- - r}

Lus e v (o) 0) W:L K“(Jur M
3ele.

Srrr———

\¢ IRL/\) —> R+
[(x, 7) J —> \JX’W /2'

}SL Ll SL\tLélw

gewe.;&:

el fasllits Beowy) () e ® wit [en]- [ed)]

(ji“ Koy) («EL) =5 xz#yzw QZJ(LI

=3 \{xﬂ/?- =-\W
: $;\\¢Llrldv'? &:L; /("'é

y. R, — R
~ —> [ 0)]
3;14-.
(e ([6n)]) = ¥(E77) = Lo o) ]
- [n]

< <
cD.CL V’x2+fz & O:L = KZ*Z' ’



uacd

() - te(icr,qj) N
Ao Yoo =Ry wd e Y iy
I ot byl
(Alk&makm, Defiwiece

(LexnJ) o= <oy )



34,
w) [2]x+ [3\] - [G‘J

e x = (13-17) 2]

= [s-3) [2]"
= [23 _ [ZJ-A
= ]

J‘) [« x = [<]

& x = [2]- [
~ L3121 - lee] = [c]
[«] (2]
- le) -]
c) g [s)x + [CJ = Zoj
<> [o] = xl+ ([Q,]* [8,]))4 v [2d-I=]
= (x+127) -(x*[SJ)

<= x+[2] = [o) A x:[3]) - To]
Z2/7 2 @ ;]'/I\
M&'\(m

x--123 = [s] x= ~[3]) = [lfJ -



